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FS | N& | RFIA | AERERER A AURIR R
1 LUk | BHE 45.71/45.71 T 2 B A A S i S8 BT AT A
2 EHA | SRAE 47.11/132.6 R T2 R b A PH B s 22 T A
3 EOUR | fTRE 45.78/45.78 T 2 B A RS i 2 DT AT A
4 O | 50.83/50.83 R T2 b A P B s 22 T A
5 EOUR | ARK 68.25/227.98 VR I LA AL 75 2 BT A X
6 O | IR 67.3/183.75 A S e {5 P AR s 22 I AT AR
7 LUk | (TEE 68.86/213.32 VA AL (i FHAN 2 s J BT A
8 EHN | e 48.33/48.33 R 2 R b A FH B s 2 T A
9 LUk | RER 55.75/174.01 VRIS I HAUR 5 2 T A L
10 | thukt | xie# 52.06/156.18 P ks B HEHAT T AL )55 |2 BT A X
11 LOukt | A 48.18/145.29 AR AL fs B )55 2 A5 A
12 EOA | EEKR 48.05/145.23 A 5 A b Ak AU s e i A A
13 EUUR | e 49.95/138.93 WA 5 Jk b fikt FH AU o o2 P A AL
14 | hIN | At A7 1131141 PR T2 R b A AU s o P A A
15 LUk | fTREE 47.53/147.61 WA T I f T AU s J2 i A AL
16 | hIN | ikFE 48.54/150.86 A 5 ik b fukt AU s o P A AL
17 w1 O ) 46.36/144.29 AR AL Al AU )55 2 A A
18 EHUN | iRk 54.18/162.54 PRI BRI AL 55 2 BT AL
19 O | xR 69.01/227.37 VRIS EHMAT IR 75 2 T A L
20 | EyOA | gkt 66.48/66.48 R T2 b A P B s 2 T A
21 LUk | fTfEZ 75.6/66.42 T 2 FE A A i S8 BT AT A
22 LUk | fRkAE 68.53/68.53 R 2 R b A5 PH B s 2 T A
23 LUkt | fTeE 68.32/113.09 PRI LA A AL 5 2 T A L
24 | tHH | U 68.99/114.01 VR BHHAT AL 55 2B BT A L
25 LTk | Sl 69.29/216.32 VR I EAEM AR AL 75 2 BT A X
26 | tHk | b 66.07/206.43 P ks B AT T AL 55 2 BT A X
27 Ehuk | EA 68.46/186.22 VA ki (i F AN e s J2 BT A
28 EOUAt | 4k 68.18/199.48 Vi AT AL 55 |2 BT A X
29 Uk | fTEEd 69.62/189.47 VRIS A AL 5 2 T A L
30 | EHUM | B 67.41/210.43 PR A BHEHAT AL 55 2 BT A L
31 LOUR | ftE 68.41/213.45 VR AL {6 FH AL s S BT AL
32 EOUA | XISEIE 67.75/207.35 Pk AT AL 55 2 BT AL
33 LUkt | e 66.95/66.95 T 2 B A A i 2 DT AT A
34 | YA | {eAsk 59.75/242.41 VRIS BHEHAT AL 55 2 BT A L
35 LUk | e 34.14/34.14 AR T FE A A S i J2 BT AT A
36 | kUM [ fEFEE 68.78/195.94 VR EHHAT AL 5 B BT A X
37 Ehikt | MEE 83.55/115.95 VR A I (i FHAN I s S BT AL
38 LUkt | SRR 38/34.86 R T2 b A P B s 2 T A
39 Uk | EEA 45.33/45.33 R T S A P RS i 2 BT A
40 | tBUA | sEEW 49.88/49.88 R T2 b A P B s 2 T A
41 EOUR | R 51.19/51.19 T 2 FE A A i S8 BT AT A
42 O | BEUK 48.77/48.77 R T2 R b A PH B s 22 T A
43 EOUR | e 47.58/47.58 T 2 B A A i 2 DT AT A
44 | tHUR | i 48.47/86.04 R T2 b A P B s 22 T A
45 LTk |kt 90.36/138.54 VR EHEMAH AL 75 2 BT A X
46 | tHUR | e 80.06/80.06 A e {5 P A s 22 I AT AR
47 LUk | {TEE 31.71/31.71 AR T B A A i 2 T A
48 LUkt | fTES 35/5.84 PR T2 b A P B s 22 T A




49 ot o I I U 22/26.12 A o 5 A FH AU s 2 i A AL
50 +hik | g 25/10.63 A o 5 i A FE R s 2 i A AL
51 Thikt | by 24.9/24.9 At o 5 i A FE AU s 28 i A AL
52 et L 50.39/50.39 A o 5 i A FE B 5 2 i A AL
53 Ik | g 55.77/117.61 A 3 HBUR b5 B BT L
54 +hik | g 59.27/92.13 A AT =8 5 M A AU 5 )22 T A A
55 Thikt | by 49.2/78.69 AT = 5 i A FH AU 55 =2 BT A AR
56 71 I | 29.77/46.7 A bt o b A R B 55 J2 i A AL
57 Thik | A 29.67/48.19 A o 5 b A FE AU s 28 i A AL
58 Lhikt | ki 50/29.62 A o 5 i A FE U s 2 i A AL
59 +hik | A 26.35/26.35 A A o 5 A FE AU s 2 T A AL
60 Uk | 34.06/58.96 A o 5 i A FE B s 2 i A AL
61 +hik | e 26.54/47.26 A o 5 A FE AU s 28 i A AL
62 Thik | sl 31.3/53.77 A o 5 i A FE B 5 2 i A AL
63 +hikt | A 31.6/57.64 A o 5 A FE AU s 2 T AL
64 et R GE PN 54.41/89.31 AT = S5 A AU 5 )22 T A
65 +hik | A 36.06/72.12 A = 5 i A FH A% 55 =2 BT A AR
66 vk | A 42.11/84.22 A bs] o b A R B 55 J2 i A AL
67 LhokE | ks 50.41/176.87 a3 Ml HBUR b5 B BT A L
68 Lhikt | g 39.44/78.88 A o 5 i A FE U s 2 i A AL
69 Thokt | ks 37.48/74.24 A o 5 A FH AU s 2 i A AL
70 IR | U 31.76/62.35 A o 5 i A FE B s 2 i A AL
71 +hikt | sk 36.65/67 A o 5 A FE AU s 28 i A AL
72 YR | Ak 22.89/22.89 A o 5 i A R s 2 i A AL
73 +hukt | ki 46.31/82.84 A o 5 A FE AU s 2 T AL
74 LhuR | s e 45.21/45.21 AT = 5 A AU 5 )22 T A A
75 +hik | mEA 27/25.67 A = 5 i A FH A% 55 =2 BT A AR
76 IR | s 51.88/51.88 A bs] o b A R B 55 J2 i A AL
77 Ik | R 46/27.86 A o 5 b A FE AU s 28 i A AL
78 IR | xR 52.28/110.72 A bs] 2 b A P AU 55 J2 i A AL
79 Thokt | e 53.05/164.95 [Tl AU 7 R BT A AL
80 Uik | s 48/27.54 A o 5 i A FE B s 2 i A AL
81 Thik | sl 53.39/82.38 At o 5 A FE AU s 28 i A AL
82 Thik | R 35.45/61.68 A o 5 i A FE B s 2 i A AL
83 +hikt | i 29.85/51.77 A o 5 A FH AU s 2 T AL
84 Uik | #ER 21.07/21.07 AT = S5 A AU 5 )22 T A
85 +hikt | ke 22.77/121.7 A = 5 i A FH A% 55 =2 BT A AR
86 IR | g 29.02/29.02 A o 5 i A FE U s 2 T A AL
87 YA | #K 77.26/77.26 A o 5 b A FE AU s 28 i A AL
88 ik | s 34.88/34.88 A o 5 i A FE U s 2 i A AL
89 Thokt | ke 87/145.7 A o 5 A FH AU s 2 i A AL
90 ThR | xR 78.96/78.96 A 2 5 i A B s 2 i A AL
91 IR | xRS 46.83/44.44 A o 5 i A FE AU s 28 i A AL
92 Thuk | s 98.43/170.57 kA Ik BN B R AL
93 Ik | kAR 9.61/10.11 A o 5 A FE AU s 2 T AL
94 LhUR | xR 17.97/17.97 AT = 5 A AU 5 )22 T A A
95 +hikt | ke 40/38.04 AT = 5 i A FH AU 55 =2 BT A AR
96 IR | &HE 16.85/33.7 A bsf o b A R B 55 J2 i A AL
97 ekt [ xR 31.62/28.86 A o 5 b A FE AU s 28 i A AL
98 Thik | A 54.73/120.8 A o 5 i A FE U s 2 i A AL
99 +huk | xR 54.33/54.33 A o 5 A FE AU s 2 i A AL




100 | 5l | s 26.55/26.55 A o 5 A FH AU s 2 i A AL
101 | +Hk | AR 100.82/153.34 [ i e FE A ALK 3 B BT AL
102 LIk | KKE 12.25/12.25 RS 2 5 b A P AU 3 J2 BT A AL
103 | tous | ulmgks 30.78/30.78 A o 5 i A FE B 5 2 i A AL
104 | +Him | #Eegs 40.13/68.42 b o 5 b A FH AU s 2 T AL
105 | +Hin | BfE 40.58/70.22 A AT =8 5 M A AU 5 )22 T A A
106 | +HiM | #Kok 42.93/74.48 AT = 5 i A FH AU 55 =2 BT A AR
107 Exur i T 29.11/29.11 A bt o b A R B 55 J2 i A AL
108 | +¥ik [ xiwia 67.74/136.01 kA3 AE HBUR 55 R BTA L
109 | 5K | xeA 46.17/68.53 A o 5 i A FE U s 2 i A AL
110 | +hok | xms 47.52/69.89 A A o 5 A FE AU s 2 T A AL
111 | +Hs | skpeE 51.02/77.65 A o 5 i A FE B s 2 i A AL
112 | +yok | xilsesd 43.24/43.24 RS 2 b A P AU 3 J2 P A AL
113 | s | e 30.65/30.65 A o 5 i A FE B 5 2 i A AL
114 | +5s | kst 46.59/78.01 A o 5 A FE AU s 2 T AL
115 | +huk | gz 51.97/77.57 AT = S5 A AU 5 )22 T A
116 | ¥k [ s 57.21/80.8 RS 2 b A P AU 3 J2 BT A AL
117 | Bk [ gk 41.05/68.9 A o 5 i A FE B 5 2 T A AL
118 | 5k | it 43.29/43.29 A o 5 A FE AU s 28 i A AL
119 LhuA | EEKE 41.09/41.09 A bs] 2 2 b A P AU 55 J2 Bl A AL
120 | 5l | sk 42.57/42.57 A o 5 A FH AU s 2 i A AL
121 | kyes | xigiE 38.36/38.91 A o 5 i A FE B s 2 i A AL
122 | kyort [ gy 35/10.59 RS 2 b A P AU 3 J2 P A AL
123 | kHokt [ iz 35.31/35.31 A o 5 i A R s 2 i A AL
124 | oM | #KoL 36.85/36.85 A o 5 A FE AU s 2 T AL
125 | tHik | K 33.49/33.49 AT = 5 A AU 5 )22 T A A
126 | +¥irt [ x4k 34.63/34.63 A = 5 i A FH A% 55 =2 BT A AR
127 Yk [ KR 40.08/40.08 A bs] o b A R B 55 J2 i A AL
128 | thokt [ xigkm 53.93/107.18 kA=l BN b5 B BT A L
129 | +HiM | A 42.87/42.87 A o 5 i A FE U s 2 i A AL
130 | +Hikt [ xiAm 82.88/82.89 A o 5 A FH AU s 2 i A AL
131 | +¥ekt [ s 42.42/42.42 A o 5 i A FE B s 2 i A AL
132 | +yr | ko 39.55/39.55 At o 5 A FE AU s 28 i A AL
133 | 5 | gk 42.96/42.96 A o 5 i A FE B s 2 i A AL
134 | +HiM | usw 41.19/41.19 A o 5 A FH AU s 2 T AL
135 | tHik | frakde 41.56/41.56 AT = S5 A AU 5 )22 T A
136 | +¥ir [ xigek 70/36.64 A = 5 i A FH A% 55 =2 BT A AR
137 | +os [ =REk 41.28/41.28 A o 5 i A FE U s 2 T A AL
138 | hyokt [ fF/eg 33.8/67.6 A o 5 b A FE AU s 28 i A AL
139 | +¥r | fmE2Y 111.6/214.89 ViR Fe b A FIAUK 73 J2 T A5 AL
140 | tyekt [ xomeasm 39.19/39.19 A o 5 A FH AU s 2 i A AL
I EE (S 42.87/42.87 A 2 5 i A B s 2 i A AL
142 | +His | s 93.33/186.66 A I A BN 55 B AT AL
143 | kyiw | s 25.03/25.03 A o 5 i A FE B s 2 i A AL
144 | +yr [ = 23.51/23.51 A o 5 A FE AU s 2 T AL
145 | +Hie | fmEx 16.05/33.2 AT = 5 A AU 5 )22 T A A
146 | tyikt | faEkl 25/33.7 AT = 5 i A FH AU 55 =2 BT A AR
147 | +yek [ xigkmg 41.07/41.07 A o 5 i A FE U s 2 T A AL
148 | 5k | kI 11.27/10.72 A o 5 b A FE AU s 28 i A AL
149 | +Hie | e 70/39.49 A o 5 i A FE U s 2 i A AL
150 | tuik | kgt 60.77/60.77 A o 5 A FE AU s 2 i A AL




151 [ BHok | XI8Hi 37.84/37.84 T 2 B A A i S8 BT AT A
152 | IR | gt 28/26.65 R T2 R b A PH B s 22 T A
153 | UM | iz 24.81/24.81 T 2 B A FH RS i 2 DT A
154 | tHUA | i 32.41/32.41 R T2 b A FH B s 22 T A
155 | Bk | fakie 47/21.7 R T FE A A S i J2 BT AT A
156 | +HiN | ffEE 36/18.57 A e {5 P AR s 22 I AT AR
157 | thM | #ock 25.79/25 81 PR T B A T A S i S22 BT A




